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Fill in the table below showing the input and output values you used to arrive at your answer. You must use at least 6 input values.

Input value = [ ; q \ qq ‘ C'%(?Cf Fe ] (D] o l
Output value = e i 10 | 2562 | . 25006 |14QL+ |,242& | 1& 7(0
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Let P be the point on the curve of f(x) =+/3+x’ where x =1,

[a] If O is the point on the same curve where X = a,

write the expression for the slope of the secant line PQ. o il ‘
[b] Use your calculator to evaluate the slope of 6 appropriate secant lines, then guess the slope of the tangent line at P
Fill in the table below showing the values of @ and the corresponding slopes you used to arrive at your answer.
e 09 099 0.89%K 1.0 O i)
slope of secant line= |, W"ﬁ( L7056 V7455 17545 17953 22,2457
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